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1. '��U = u, XbB(n, u)5µ, vUbU(0, 1)5µ��|ÒÐóOX�&f�5

µ�

2. '(X, Y )�Ð)ÒÐó


gX,Y (s, t) = E(sXtY ) = (
1− p1 − p2

1− p1s− p2t
)n, |s|, |t| ≤ 1,

Í�p1, p2 ≥ 0, vp1 + p2 ≤ 1��OX,Y�\jp.d.f.’s, X + Y�p.d.f., ¬¼

�X + Y�5µ�

3. 'X1, · · · , Xn
i.i.d.U [0, t]5µ�r.v.’s, t > 0, n ≥ 1�

(i)�O
∑n

i=1 Xi�Laplace»ðφ(u), u ≥ 0�

(ii)�¿àφ(u), u ≥ 0, OE(
∑n

i=1 Xi)�

4. Ø�Ãß®ñ]�ís, Í�b�ó\�
1, �ó\�
2�A�BÞß, &�0
D��Ýís�, �^2ã100Í��5½£�ì�Þ¯��^£:

(i)AXãís�À��øÄ460;

(ii)AXãís�À��øÄBXãís�À��100�

5. '{Xn, n ≥ 1}
NEP8n, vXnbP(1 + 1/n)5µ, n ≥ 1��®n → ∞`,

XnÎÍº^£[e�£×r.v.?

6. �Ω = [0, 1], F
[0, 1]îXbBorel/)Ý/), v�P ([0, a]) = a, ∀a ∈ Ω�E

∀n ≥ 1, � Xn(ω) = sin(ω + ωn) + ωn + 1, ω ∈ Ω��µ�LJ�Xn
P−−−−→

n →∞ X,

¬��X�

7. '{Xn, n ≥ 1}
}ñ, P (X1 = 0) = 1, vEn ≥ 2,

P (Xn = n) = P (Xn = −n) =
1

2n log n
,

P (Xn = 0) = 1− 1

n log n�

�Xn =
∑n

i=1 Xi/n, n ≥ 1��JXn
P−−−−→

n →∞ X, ¬��X�


